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WA 21,9001 12kg 1,620 - 1,242 — 864 —-| R ETHF fth
FEIZA LA 12,630] 10kg 3,240 —»[ 2,160 —| 1,080 —| f&& FE i
fziro 1,858 Akg 2,700 || 1,998 || 1,296 1| =& b
H% 23,817 15kg 2,160 T 1,836 1| 1,512 1| Z#W b
FrY 31,230 10kg 1,728 —| 1,404 1| 1,080 T| #1Fub =4 fib
EFS5NAZED 4,873 200g 97 — 81 — 65 —| & f&EfE fth
AE 256 dkg 1,620 || 1,008 | 864 || =% b
Fh¥E 3,059 5kg 1,944 —| 1,728 -] 1,512 -] =& KB fb
AN 6, 071 dkg 1,836 —| 1,512 - 1,188 —| &M =4 b
k< k 9, 631 dkg 2,484 —| 2,019 || 1,404 7| &M REX i
Ep oY 15,975 5kg 1,944 - 1,728 —=| 1,512 -] & HRik b
E—<> 4,105 130g 84 — 84 — 84 - ERE =i b
ERAES 562 2kg 2,160 —| 1,944 || 1,728 || E& b
ZThE 184 4kg 3,240 1| 2,184 1 864 || ERE it
Fhul & 25,660] 10kg 2,160 || 1,890 7| 1,620 1] dimE EIRE b
EL g 4,000] 10kg 3,618 || 3,323 1| 2,592 17| dim&E 4th
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Sl NS 2,207 3kg 2,592 = 2,223 1| 1,620 =] HEX {h
LWV 2,239 200g 216 | 173 | 130 - #S b
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Hio2hA 4,526 10kg 2,376 || 1,890 || 1,404 -] #nFul 4o
o> &< HhA 3,491 10kg 3,024 || 1,836 | 648 || #Frl b
BRALUD 3,981 10kg 4,212 1| 2,754 1| 1,296 1| #0dmbl 4t
TIIEA 4,716 5kg 1,998 || 1,890 || 1,404 || #&A #FnEubL fib
AL 28,960] 10kg 5,940 || 4,320 || 2,700 || &% b
afFd—ILK 4,830] 10kg 3,780 || 3,510 || 3,240 || &%
w2 20, 886] 270g 464 — 351 — 238 —-| f&E K& ith
ERAY: 876 13kg 7,020 || 4,315 || 3,780 1| #&X
BEAQY 294 8kg 22,680 1| 14,800 7| 10,800 1] =% FNl 4t
*—4 14  400g 162 162 162 FN 4t
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